\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

<) Dunbarton.

CORPORATION
868 MURRAY ROAD, DOTHAN, AL 36303

ACHIEVER

STEEL FRAME SYSTEM
Center Hinged Patio
Utilizing a Fiberglass Door Panel

INSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th
Edition (2020) Florida Building Code (FBC) structural requirements
excluding the "High Velocity Huricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind borne debiris protection this
product is required to be protected with an impact resistant
covering that complies with FBC Sections 1609.1.2 & R301.2.1.2.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

77.25" MAX. O.A.

FRAME WIDTH
35.75" MAX.

PANEL WIDTH

35.75" MAX.

77.25" MAX. O.A.

FRAME WIDTH

83.00" MAX. O.A. FRAME HEIGHT

79.00" MAX. PANEL HEIGHT

PANEL WIDTH

/
4

VA

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Horizontal cross section

Vertical cross sections

Vertical cross sections

Buck anchoring

Frame anchoring

Components

V(0[N [ON[O B |WIN|—

Bill of materials, glazing details and components

Retangular Glazed
w/ Decorative Inserts

Retangular Glazed

FIBERGLASS | 77.25" X 83.00"

35.75" X 79.00"

21.00" X 63.00"

August 11, 2020

813.659.9197

P.O. Box 230, Valrico, FL 33595
FBPE Registry No. 9813

BUILDING CONSULTANTS, INC.

Phone No.:

Lyndon F. Schmidt

oeson [ PW

DUNBARTON
PRESSURES & GENERAL NOTES

ACHIEVER STEEL FRAME SYSTEM |P-E. No. 43409
TYPICAL ELEVATION,

PRODUCT:

JK
BY

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:

8/11/20 |UPDATE TO 7TH ED. (2020) FBC | DAC
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

NO. DATE

3

N

1

REVISIONS

DATE: 03 /14/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15362.6

SHEET 1 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



\W\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

Il

04— EXTERIOR
KNOB: FI3 SERIES
HINGE STILE (LVL
PAMEX | DEADBOLT:  FD2 SERIES CAP [PVC) (tvi) INTERIOR
@ HORIZONTAL CROSS SECTION
2
EXTERIOR ™1 GLASS BITE 3/8"
HOMERUN SEALANT 1/2" OVERALL
ODL HP LITE FRAME EXT. T GLASS THK.
READI-SEAL SEALANT .
35.75" PANEL 1/8" TEMPERED
WIDTH X GLASS
y /AR SPACE
SN n 7\ 1I\_1/8' TEMPERED
— N GLASS
ODL HP LITE FRAME INT.
#8 X 1-1/2" PPH SMS ALUM SPACER
7 INTERIOR
T @ GLAZING DETAIL
&>
fIN}
= NS l |
Q 9 ©94¢
8 2 &.o
5 = ~ b !
N o S
SN ~ SEE HARDWARE o
l CHART | 3

PLASTPRO FIBERGLASS DOOR PANEL

{Rectangular Glozed)

?
. DOOR SWEEP

LATCH STILE

N\
CAP (PVC)

REINFORCEMENT (LVL)

FOAM CORE L
(POLYURETHAN—E-\
1.9 PCF MIN.)

FIBERGLASS SKIN SO
(0.075" MIN. THK.)\ AT g

BOTIOM RAIL
[COMP.)

INTERIOR iy

TOP RAIL

(COMP.)
_]

1.6

EXTERIOR

1.2

/" 2"\ VERTICAL CROSS SECTION

\2/

AW
¢!

August 11, 2020

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

P.E. No. 43408

Ry

Lyndon F. Schmidt

FBPE Registry No. 9813

DUNBARTON
ACHEIVER STEEL FRAME
SYSTEM
DOOR PANEL DETAILS

PRODUCT:

DAC
JK
BY

9/29/17 |UPDATE 7O 6TH _ED. (2017) FBC | LFS| PART OR ASSEMBLY:

3/23/15 |UPDATE TO 5TH ED. (2014) FBC

3 18/11/20 | UPDATE TO 7th ED. (2020) FBC

N

1

NOJ DATE

REVISIONS

oAEQ3/14,/12

SCALE:  N.T.S.

Dwe. B:  JK

CHK. BY: LFS

DRAWING NO.:
FL-15362.6

SHEET 2 oF _9

© 2012 R.W. BUILDING CONSULTANTS INGC.



TON SLINVATIASNGD aNaGinNg ‘"M 210z @

186 "oN Ansibey 3484 SNOISIATY
L616°669°CL8 "ON @uoud Ad 41vd [ONJ o © _
S6GEE 4 ‘OSHIPA ‘0€Z X0g °O'd g SNOILO3S SS0¥J TVINOZIMOH AP 084 (¥102) *a3 HIS oL 3wvadn| sifez/el L 1|l D
"ONI ‘SINVLINSNOD ONIQING @ TXT@NISSY 80 Luvd [S47] 084 (Z102) 03 HI9 OL 3Ivadn|Z1/62/6 | 2 | < 2| = |5 .8 &
ova| 084 (0¢0¢) "3 WL OL AVAdN| 02/11/81 ¢ 1| Z gw _
60¥CY "ON “F'd Ml B sl T
PIUYSS 4 uopus| WILSAS IAVYL TIIUS ¥IATIHOV & lelglz &
NOI¥YVENNG _ ‘1ONGO¥d AR A
+ - 60¥Ev ON
~
L
v & .. JgNzoN . \/ Z
”, cooo:.oo u
\\\\#Q%erum WG// m
g 9
)
~ |
Qo
Z ~E
o Olg
] | O
) &l =
. ) c
a3 Qs
S S8
& 5 ==
-8 LN
o <|£
2/
O 5t p
™NIT
.l«r@ ol 2
o (%]
X
P
~O
~N
] & m_ S
o oc
g 5
S S
4 ac
g 5
(® =
Q
O =
NN\ , 2 :
’f‘m’,"‘ u_ﬁ"L “w C
”-.'-QQEJ- m m
z o
h 8o
Z = SE
3 Oz
7 ol
<z AN J N =8
@\\\\ : & = >
Z o Ol5
Z o I o | 2
z 2 |2
o =
mw xS
! ® N
|
S S
ac [
g 5
AN PaN
T O 5
Q
L ]
(@)
3
o &5
Q
w0 s PaN ., ”,. M .W
=|5
LD Qi
e N|T
s &2
L] 4
@\_ 2/
A\ f

Bmp9-1°29€51-14\(0202) 29€S5L-Td\sBUIMEIQ - D\ISASILDY pue Ynipay - $100Q X3 BulBUIMS - 29€5 L -T4\s[eAr0Iddy 1DNPOId BPLIOH - Y\IUSUBULIS] UOHEBQUNA\SIUBID\IGMINLOIPN



"ON| SANVLIINSNOD SNIQTING "M'd 2108 §

/ 1"\ VERTICAL CROSS SECTION

INTERIOR

W 2X Masonry construction

£186 "ON ANnsibey 3d84d SNOISIATY
L616°659°CL8 "ON euoyd Ag 31vd [ON| © _
S6SEE T4 'OSHIDA ‘OEZ XOg ‘O'd \Sv SNOILO3S SSOHO TYOLLYIA a | 084 (vi0z) a3 HIS o1 Avadn| sifee/el LT gilx |0 o |D
"ONI 'SINVLINSNOS ONIgIing gu ‘ATW3SSY d0 Livd [SJ1] 084 (Z10Z2) "G3 HI9 OL 31vadn{/i/62/6 | 2 V IR ) e ) 8 &
awiig,, Ova| 087 (020z) 03 Wi/ 0L Avadn| 0z/T1/8[ ¢ 1|2 2o |
S A(ZO\Q < 60¥SH "ON "3'd o E &g T T
Q) ...aaﬁmw.....@ 7, IPiuuos 4 uopuky| WALSAS IAVMA TIALS HIAIIHOV 5} m 1|2 | B
Il&... .... ¥~ :hg peiodesd sjuswnoog NOLIYVENNA -10N3a0dd S m 5 m %
] 0202 ‘L1 1snbny
= . 60vEV ON =~
z S &
\\\\ w-w.”zmo.ﬂ\’ooo-oo) ,,//,
%, o WSS W,,/zz/
T @
N
=
- O
8 O
ac L]
& N @
w 7]
(o]
o
O
<
0 m
&) O >
S
[ 3
2 \?Nr mw
p— = ———
& N
'Y ™Y wy
=
o
O
5 S
oc
ﬁ 35 = 23
QIG5 Z o &
OlE 2<
-t} w M
‘ 1S 2
el £ S
v .
SIx
: &
[
@ S (dAL “8a _
B NIW .#/1-1
: ®
L
/.l\.\bn/,/\
0 4
® L 5
oc “ . m
'Ol v& ‘ wb, m
§ ® 2
o [7¢ ]
™ A m
o
('dAL) "ew3 S v
NIW F/1-1 ‘ <
. . 19}
o4 s =
< » a; m
. >
5 \% ~g e mw
= ~ , .
IS : : 4 m
w , m O

Bmp9-1'29€51-14\(0202) 29€5L-TA\sBumelq - D\srsIydy pue yniipay - s100Q 3 Buibuims - z9€51-T4\sjerosddy 1onpoid epuol4 - Y\iuauew ad uopequn@\siualD\Igmi\LOIPA\




TONL SANVLTINSNDD SNIQTHNE "M'd 2 102 @

‘
.
-
<z
%

€186 ‘ON Ausibey Idgd SNOISIATY
L616°659°CL8 "ON @uoud Ad 31vd [ON| o _
S6SES T4 ‘OOUIPA ‘052 Xog “O'd \Su SNOILO3S SS0O TVOLLYIA % | o84 (#102) '3 HIS ol avadn] si/ez/e| Lol gilx || « | @
‘ONI ‘SINVITNSNOD ONITIng Mmy KGNSSV ¥0 1Ovd [S4T] D84 (Z10) '3 AIS 0L 3Ivadn|Z1/62/6 [ 2 ||| | S|, S | &
$$: ::\\\ vd 084 (020¢) "a3 Wi. OL 3ivddn] 0z/L1/81 € ﬂ - g _
///Mrﬁ J<ZO\@ Z 60¥SH ‘ON I'd o 18 Ele T
R %, IPiuss -4 uopust WIALSAS IWVHA TIILS YIATIHOV HEIMMEEEE:
.... 2w A peapdesd sjuewinoog NOLMVYENNd -LOoNACYd 35131815 W &

. Songos
\\,\Q\SI.OW 3 /////

S
E d P
2 ¥
=
g &)
O
N ) S
45 g 2z
G2 2%
1%2) U M
| 38 2
oS o)
..... \ m m 3
® ’
= (&)
(-4
@ 9 (dAL) a3
m NIW ¥/ 1-1
= ®
[ ¥y ]
/\DA//.\
| : .b
=
Q
) ‘ O
g 4
Q
('dAL) 'awa m
NIW /1L 3
)
LUURTEARLLRY ) ,b m
s
R ®
o
z
w m «
5 g
I @5 B
N O
e
Q| &
0|3
=
L2
=K
>8
)

s &2 0202 ‘L1 isnbny

60vEY "ON

(54)

EXTERIOR

/& \ VERTICAL CROSS SECTION

SAANVAAL ARV

gl

ANV TN e

L

INTERIOR

Bmp'9-1-29€51-14\(0202) 29€5L-Td\sBumeIq - D\anaiydy pue Ynupay - s100Q X3 BulbuIms - 2951 -T4\s|eroiddy 1NPoId BPUOA - Y\IUSUBWLISd UOHEQUNA\SIUBIDNIGMINLOIP\\



TONY SENYLINSNDOD 9NIgGHOg "'m"'d 2 10 @)

€186 'ON Ansibey 3dad SNOISIAZY
L616'6S9°CL8 'ON ®suoyd A 31Vd JONJ ey © | o
S6GEE 14 ‘OSMIDA ‘0£Z Xog °O'd \Su INIHOHONY — A0ng Mr | 084 (»L0z) 03 HIS ol 3ivadn| si/sz/c] L |N]U|X m o F_
"ONI ‘SINVLINSNOOD ONIaTiNg @ "ATANISSY HO 1dvd [S47| 084 (£10Z) "G3 HI9 OL 31vadn|/Zi/6z/6 | 2 | | .M |5
ova | 064 (0¢0z) 03 HIZ 01 3Ivadn|oz/it1/8 | € » < g2 6‘
o SOYEY, ON 3 el WALSAS INVNH T3ILS HIAIIHOV S EAE g ﬂ_ 5
i Wl || ]
NOLYVENNG e HEIHEERE:
v "D'0 XYW
* _ " ST 61
i i i i i
| 1 ] 1 I
= 4
Q=
X
oo MR
= 6 i
o A
& = SXZ
~ =20 o
1 / s
- O
iiiiiiiiiiiiiiiiiiiiii &
- - - - T T g
s 32
b
. ¥]
a
wo o
™ 7
H..a..“ ....Av
- :‘t .l;.v|
SRR 1 I I I
1...4. ._.‘q 1 1 1 u.A._A uau
‘, Aa, ;.ma.ﬁ‘ mw / \\va.vw‘ sb ..v
> O
S ZZ
= 2
& 30 . .
£ ko]
£ o
00T
2 268
- - =
c 985§5¢% .-
5 302
E TOG
il
(O
o Q95
= $59¢
T 5T S
L E£CG
s 0K
=2 xEQ
T W3TE s, | =
O ZFUVJ ™~ -
© 9
8 Ggk
> ZES
m (SRR
n XB5Y
5 <tz
g 28O
[e) ; -] £
S B8o% SO
Qo T - |
£ 382 - | -
-8B oco
40 cOE
Glel el o
B85535
= D= ol
ZITED %vmb . . .
OleEQ ool ==
desatis
<clco¢ e | %
C50L8008]| =
Uy ] = 0 : = TO
Geszpcso 0|20
% 5 O
00 DPT LY 20
O505E9G g%
ZlcopeExc <&
Oleo688s =0z
OO0 EEOD
~ & @

9'9 'BMP'9-1°29€51-14\0202) 29€5L-T4\sBuimelq - D\ansipy pue ynipay - 51000 1x3 Bulbuims - 295 1-14\sjerciddy 1onpoid PHOIY - Y\IUBUBLLIS] UOMRGUNG\SIUBIDNY



RV

44
operfiod

B

MULLION TO HEAD DETAIL

MASONRY 6" MAX.
OPENING oC. (TYP)
oL il

Y 3

— 6"
6"

1
==

TYP. HEAD
& JAMBS

I
“ g
6"
25.125" 25.125"
S f—— 6" | et N
I

|

THE ENGINEER OR ARCHITECT OF
RECORD TO DETERMINE FRAMING
REQUIREMENTS BASED ON WIND
LOADS AND THE CLADDING BEING

USED.

6" MAX.
O.C.(TYP)

{

e ||

TYP. HEAD
& JAMBS

—— 6"
6"

6"
‘1 [:— 25.125" 25.125" ——-’
o 6" e e

J

TYP. SIDELITE
~~]||| TO FRAME i
=== | || ATTACHMENT TYP. s \@
P ~
oa
Tf’ == i TYP. SIDELITE
KA TO FRAME
AcA ' ———_{— ATTACHMENT
.
@ = = FRAME ANCHORING FLOOR SUBSTRATE
MASONRY CONSTRUCTION MATERIAL - A
THIS TAPCON REQUIRED FOR V
DP > 39 PSF ONLY
e
t’@ THIS SCREW REQUIRED FOR
MULLION TO SILL DETAIL DP > 39 PSF ONLY
CONCRETE ANCHOR NOTES:

TYP.

FRAME ANCHORING

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requirements.

2. Concrete anchor locations at the comers may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

DeWALT of 5/16" 1-1/4" 3-1/8" 5

i lTRACON+
WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws to
prevent the splitting of wood.

%Y ]
b Y )

STUD CONSTRUCTION

oélc':h./‘(?;(é.) “”] L

X

£y
-
S,

3
nos Il

4

=

MULLION TO SILL DETAIL

2" ——

= 2.625"

9"

@)
-®

HINGE DETAIL

|
b

=
lo_._._’,

[—-————— 31.125" ~————~>t-*————— 31.125"

£
w

Y,
="
- X: g
o:d
0.3
2 w:.'.
P 2,2
iy
SECTION A-A
o
S
[aY]
. g g
s 5)
=3
<
5
411
1T
un
Bt
HINGE JAMB STRIKE JAMB
/]
7
2X BUCK
@ INSTALLATION
@ 92X STUD
INSTALLATION
/
"
STRIKE DETAIL

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

DUNBARTON
ACHIEVER STEEL FRAME SYSTEM
FRAME ANCHORING

PRODUCT:

JK
BY

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:

8/11/20 | UPDATE TO 7TH ED. (2020) FBC | DAC
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

Moy

1

NOJ DATE

DATE: 03/14/12

SCALE:  N,T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15362.6

SHEET 7 ofF 9

\W\dcOT\rwbe\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achieven\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

FBPE Registry No. 9813

REVISIONS

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SANVLATINSNGD 9aNIgdTimng "My 2 102 @

€186 'ON Ansiboy 3daid SNOISIAFY
L616°6S9°CL8 "ON suoud SININOdWOO Ag 3ivd JONIN © 9_
S6SEL T4 "OdMIPA ‘0eZ *og O'd \Su e 084 (y10g) 03 HIG 0L 3lvddn| Si/ez/el L I oi|x || o .
"ONI ‘SINVLINSNOD ONIGIiNg @u "ATBN3SSY 0 ldvd [S47] 084 (£102) "d3 HI9 Ol JIvadn|/1/62/6 | 2 |~ || || ., 81°
2:::::5 ova| 384 (020z) “G3 W OL 3Ivadn| 0¢/TL/81 € | Z| | |2 0 8_

O\2 WNoe v, sove oN ‘a'd| WALSAS INVMI T3ILS HIATIHOV SR Y

SO ailioy; . O, PHuuss 4 uopuA) NOLYVENNa MEIME BXE
II&... S % :kg peipdesd sjuswinoog <10Naodd S|318|5|8 %

0202 ‘L1 isnbny

- 2T #1001 -
- ] ﬁ
o o & S
| 2
5 | :
N o
—— =
.
~— G| —= ~— G50 — e E¥0
W59°0
_._.m.o "1“ _llli
<
& QO
0 —mt-— 0700 =
2 5
-
=
1 :OW.N _ '
9
2
& 200 m
o =
et — :mw.— — ] ﬁNv <
=
2z
wm M a
o~ —

2.44"

@ MULLION

I — ..W.N T

6Mp'9-1'29€51-14\(0202) 29€5L-14\sBUIMBIQ - D\IBABILDY pue Ynipay - 51000 X3 BUIBUIMS - Z9€5 | -T4\s|eAciddy 1DNPOId BPLIOY - Y\IUBUBWLISY UOHEGUNA\SIUBIDAIGMINLOIPA\



\WdeO\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

BILL OF MATERIALS
ITEM | DESCRIPTION MATERIAL
A_| 2XBUCK SG >=0.55 WOOD
B_| 1/4" MAX. SHIM SPACE -
o | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F_| #8 X 1" PPH SCREW (7/8" MIN. EMBEDMENT] STEEL
G_|#8X1-1/2" PPH SCREW (7/8" MIN. EMBEDMENT) STEEL
1| 1/4"X 2-3/4" DeWALT OR ITW CONCRETE SCREW STEEL
M_| #8 X 1-1/4" PPH SCREW STEEL
N | #10 X 2-1/2" PPH WOOD SCREW STEEL
P | #8 X 1-1/4" PPH SCREW STEEL
20 | SEALANT SILICONE
23| #9 X 3/4" PFH WOOD SCREW STEEL
24 | #9 X 2-1/2"PFH WS STEEL
25 | DEADBOLT STRIKE PLATE STEEL
26 | LATCH STRIKE PLATE STEEL
27 | HINGE STEEL
28 | WEATHERSTRIP FOAM
29 | FRAME STEEL
30 | JAMB REINFORCEMENT STEEL
41 | INSWING THRESHOLD ALUM./WOOD
48 | #8 X 2-1/4" PFH SCREW STEEL
49 | #8 X 3" PFH SCREW STEEL
51 | #10X 3" PFH WS STEEL
52 | INSWING SIDELITE SPACER PVC
53 | 5/16" X 2-1/4' DeWALT CONCRETE SCREW STEEL
54 | #12 X 2" PFH WOOD SCREW STEEL
60 | MULLION LVL
61| MULLION CAP STEEL
62_| MULLION PAD SPACER PVC

0.13" —

ey

—J
0.56" *»J 1*-

J)
.

30 JAMB REINFORCEMENT

2.63"

0.94"

,%_

1.06"

‘s
'''''''

1.125"

-

Ll
-

August 11, 2020

P.0. Box 230, Vairico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

Lyndon F. Schmidt

Ry

DUNBARTON
ACHIEVER STEEL FRAME SYSTEM |P.E. No. 43409

BILL OF MATERIALS
& COMPONENTS

PRODUCT:

DAC
JK
Y

REVISIONS

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:

3/23/15 |UPDATE TO 5TH ED. (2014) FBC

3 18/11/20 [UPDATE TO 7th ED. (2020) FBC

N

1

e
<
a
o
z

DATE: 03/14/12

scAlE:  N.T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-15362.6

SHEET _G oF G

© 2012 R.W. BUILDING CONSULTANTS INC.





